Essential Notes on Chemical Formulae

1. Valency is defined as the number of electrons that a metal will lose or a non-metal will gain in

order to obtain the electronic configuration of a noble gas.

2. Valencies of the chemical elements:

metals non-metals
Group number in the Periodic Table 1 2 13|14 | 15| 16 | 17 | 18
Number of electrons lost or gained to obtain the electronic | lose | lose | lose || gain [ gain | gain | gain 0
configuration of a noble gas 112 (3141321
Valency of chemical elements in that Group of the
Periodic Table (refer to the Periodic Table) 1 2 3 4 3 2 1 0
3. Valencies of the common polyatomic ions:
Name ammonium hydroxide nitrate carbonate sulfate phosphate
Formula NH4* OH- NO3~ COs* S04% PO.*
Valency 1 1 1 2 2 3

4. Essentially, the formula of a compound is obtained by swapping the valencies of the elements

and / or polyatomic ions that are present in the compound, for example:

a) Aluminium chloride:

Al (3)

Cl (1)

P

Al (1)

Formula: AIClIs

Cl (3)

b) Copper(ll) nitrate — Note: the (1) means “copper with a valency of two” bonded to nitrate:

Cu (2)

NO3 (1)

Py

Cu (1)

NO3 (2)

Formula: Cu(NOs). — Note, () are required when there is more than one of the same polyatomic ion.

¢) Ammonium sulfate:

NH; (1)

S04 (2)

Py

NHs (2)
Formula: (NH4).SO4 — Note, () are required when there is more than one of the same polyatomic ion.

1

S04 (1)
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